

11 = 11 7 13 1 (11 2 11 11 11)

$A = (\vec{a}_1, \dots, \vec{a}_n) \in M_{m,n}(\mathbb{R})$ である。

$$(A\vec{x}, \vec{y}) = (\vec{x}, {}^t A \vec{y}) \quad (\vec{x} \in \mathbb{R}^n, \vec{y} \in \mathbb{R}^m)$$

証明 2 通り

$$\begin{aligned} \textcircled{1} &= (x_1 \vec{a}_1 + \dots + x_n \vec{a}_n, \vec{y}) \\ &= x_1 (\vec{a}_1, \vec{y}) + \dots + x_n (\vec{a}_n, \vec{y}) \\ &= \left(\begin{pmatrix} x_1 \\ \vdots \\ x_n \end{pmatrix}, \begin{pmatrix} (\vec{a}_1, \vec{y}) \\ \vdots \\ (\vec{a}_n, \vec{y}) \end{pmatrix} \right) \\ &= \left(\vec{x}, \begin{pmatrix} {}^t \vec{a}_1 \vec{y} \\ \vdots \\ {}^t \vec{a}_n \vec{y} \end{pmatrix} \right) = (\vec{x}, {}^t A \vec{y}) \end{aligned}$$

$\textcircled{2}$ A : \mathbb{R} $m \times n$ 行列, B : \mathbb{R} $n \times l$ 行列. $1 = 1, 2$

$${}^t (AB) = {}^t B {}^t A$$

$\vec{x} \in \mathbb{R}^l, \vec{y} \in \mathbb{R}^m$ 1 = 1, 2

$$(AB)\vec{x}, \vec{y}) = (\vec{x}, {}^t (AB) \vec{y})$$

1 = 1, 2

$$(AB)\vec{x}, \vec{y}) = (B\vec{x}, {}^t A \vec{y}) = (\vec{x}, {}^t B {}^t A \vec{y})$$

1 = 1, 2. $\vec{x} \in \mathbb{R}^l$ 1 = 1, 2

$$(\vec{x}, {}^t (AB) \vec{y}) = (\vec{x}, {}^t B {}^t A \vec{y})$$

1 = 1, 2. $\vec{x} \in \mathbb{R}^l$ 1 = 1, 2

$${}^t (AB) \vec{y} = {}^t B {}^t A \vec{y}$$

1 = 1, 2. $\vec{y} \in \mathbb{R}^m$ 1 = 1, 2. $\vec{x} \in \mathbb{R}^l$ 1 = 1, 2. ${}^t (AB) = {}^t B {}^t A$